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Module-11
Lecture-32
Membrane Analysis of Cylindrical Shell Roof Subjected to Self Weight and Snow load

Hello everybody, today it is my 2nd lecture of the module 11. In the module 11 I was discussing
the membrane theory of cylindrical shell. In the last class I derived the general equations for the
equilibrium of cylindrical shell. And today I will go for the analysis of cylindrical shell subjected
to vertical loading, that is as a self weight along the surface of the shell and also this snow load
along the projected area. So, today our discussion will be on the derivation of the expression of

these membrane stresses for cylindrical shell roof subjected to self weight and snow load.

And we will be incorporating the different types of directrices in the expression. So, a general
expression is targeted to find out the stresses membrane stresses in this cylindrical shell roof.
And with the help of the general expression, we can apply this formulation to any type of
directrices. Because cylindrical shell, this is actually formed when the straight line generator
moves over a directrix, that is the plain curve. So, the different types of directrices are possible
and we will see the some common type of directrices for the analysis of cylindrical shells.

(Refer Slide Time: 02:17)



STRESSES IN CYLINDRICAL SHELL
We have three equations of cylindrical shell in membrane analysis which are
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These are to be solved with boundary conditions and given loading

Now the equations of equilibrium in 3 directions have been obtained in the last class and these

equations are in this form. The first 2 are the differential equations relating the membrane forces

N

* and N

in the longitudinal direction that is or with the component of the load along the

longitudinal direction. The 2nd equation is the equation of equilibrium in the y direction, y

direction is the direction along the tangent to the directrix. So, this 2nd equation connects the

N,

0 and N

membrane force 0 and the load in the y direction.

Third equation you can see, it is an algebraic equation and it is directly giving you the value of

Ny =—ZR , What is Z? Z is the component of the load along the radial direction. Z is the radial

direction that is the direction directed towards the centre of curvature. So, these equations need
to be solved with the help of boundary conditions and given loading, then we will be able to
know the value of the membrane stresses which can be used for design purpose.
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The expression for the stresses in case of
simply supported shell becomes,
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Where
N B —ZR X =0;Y = w,sing; Z = wycosd

The equation of stresses in case of simply supported shell have been obtained in my last class
also. And we have seen that for simply supported edge, means here the simply supported

condition exist at the traverse, traverse at the support at the 2 ends of the shell. So, the simply

supported condition at the traverse the 2 conditions have been imposed, one is the N, is 0 and

another is Ny 1s 0.

So, based on that 2 conditions, we have obtained the constants of integration and the final

Nx9

expression for No , and N, are given here for simply supported cylindrical shell. So,

Ny =—2R where R is the radius of curvature at any point that is point is located by the distance

x and the angle measured from the vertical axis passing through the centre. And K is a constant

that K is given by W, Sin , Y is the component of the load along the tangential direction to the

meridian.

So, with the help of this equation, we can obtain the membrane stresses for cylindrical shell, if
the ends are simply supported. Ends are supported on traverse and traverse may be of different

form this may be of solid diaphragm type or it may be a tide arch or it may be a trust arch. So,



here you are seeing it is a tide arch form. So, the condition here is that N, is0 N is 0, origin is

taken at the centre of the shell.

[
+—

So, if origin is here then boundary condition is specified at x = 2 and 1 is the length of the

shell or span of the shell. Component of the load along 3 principle directions are given as x = 0,

X is the component of load, Y is the component of the load along the tangential direction to the

w,

w_sin@ w_cosO Jif e is the

directrix that is "¢ and Z is the component of the self weight thatis "¢

self weight acting on this shell. However, this expression will slightly alter when this snow load
is considered because snow load is assumed to act over the horizontal projected area.

(Refer Slide Time: 07:02)

MEMBRANE STRESSES IN CYLINDRICAL SHELL

For symmetrical loading condition, in a simply supported
cylindrical shell we consider the following two types of load
in design

(i) Self weight and LL
(ii)Snow load

i) Stresses for self weight+LL

Let w,=intensity of self we'ight
including LL distributed along the shell
surface. For load of intensity per unit
areaas w,

X=0;Y=wgsin8;Z = wycosf

Let us now calculate the membrane stresses individually for self weight and this self weight +
live load and snow load. First we will cover the self weight plus live load and then we will go for

snow load. Now here you can see that a arc of a portion of this shell is represented here and the
We is the self weight acting at the point vertically downward and it is component along the radial

) . . w_cosO ) .. ) . ... ... w.sin0
directionis ¢ and in the meridional direction it is this ¢ .



w_cosO

Because this angle is O, so after resolving this in the radial direction it becomes ¢ and
o C g . o w,_sin6
resolving in the tangential direction at this point it becomes ¢ . So, the component of the

loads are specified and X is 0 the longitudinal force along the shell surface is assumed to be 0.

(Refer Slide Time: 08:24)

STRESSES IN CYLINDRICAL SHELL

We have three equations of cylindrical shell in membrane analysis which are
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These are to be solved with boundary conditions and given loading

So, these are the equations of equilibrium, from that we get step by step the different stresses.

First 1 shall go for obtaining No , SO No — -ZR, so No is directly given by ~w, cos0 theta

because this is the component of the load along the radial direction that is what is Z, you can see

here Z. So, substituting Z here in R, R is a function of angle 0 | so therefore R is written in terms

of & . But when we consider a circular cylindrical shell R is a constant, so it does not vary with

theta.
(Refer Slide Time: 09:11)



Stresses under self weight +LL

N, =-w, cosd R(f)

. X=0;Y =wycos8; Z = wysind
N, =Kx
Find the value of K

. | 1R :
- ——L 4 ¥ = (w, sinf-—w, cost—)+w, sind
R df R d@

i
=2w_sinf-—w_cosd
4 £
A dt

Now substitute in equation for Ny,

1 dan
N, =(2w sinf-—w cosf—)x
S REde

Then we shall go for calculating Nox , the membrane shear force. Now, you can see in my earlier

slide that No = -Kx where R do , Y is the component of the load along the tangent to

LaN,

the directrix. So, the No is given by Kx. Now, K is R do , so this is the value of K.

Now substitute this value of No , No we already obtained - W, COSORE .
So, after differentiating with respect to theta and then substituting the value of Y as w, cosd ,
. 1 R
2w, sinf ——w, cos@d—
we get this expression. And after simplification the final expression is R do

2w. Because here you can see when we differentiate this expression K, this No which is given by

this, the 2 functions are involved here one is cos theta and another is RO



So, you have to differentiate suppose if you differentiate first cos theta then RO will remain as it

is. Then secondly you differentiate RO and €086 will remain associated as coefficient, so you

dR

are getting this term. Therefore, 90 term is coming because R is a function of 0 | when this R is

constant for in case of circular cylindrical shell then this term vanishes.

So, after obtaining K, we now write the expression for N"X. So, No is given by

. 1 dR
(2w, sin@ ——w, cos —)x
R . So, you can see these quantities are dependent on theta and this

We is constant quantity. So, at any position, at any meridional angle the No is linearly varying

with x. So, that is noted from this expression.
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Expression for longitudinal stress N,
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After simplification,

| Y 1 dk . 1. df | d'R
N o=——(—-x') 2| 2e050+ —cos—) +—sinf— -— )
x 1!4 X’) R 058 +H,DOG ﬂ} +—5n 7 cos ﬂ"i

Expression for longitudinal stress N, . So, longitudinal stress N, for simply supported shell we

1.7 , 1dK
N =——(——x)——
have obtained as this 24 R dO  So, this expression now we will take to find out



the expression for longitudinal stress. So, N, is written as 24 R d®  Now, this K
. 1 dR
K =2w,sin ——w, cos —
is obtain as this R do

dK
So, 40 can be obtained by differentiating this expression with respect to theta. So, if I

differentiate this expression with respect to theta then I will get

2
aK _ 2w, cosO —wg{—izcosé(d—R)2 —lsined—R-irlcosO d If
do R do R dé R do

}

We I have taken as a factor because it is a constant term then I have to differentiate 3 terms

icosOd—R

dO | So, these 3 terms are in the product form, so I have to differentiate using the

differentiation rule of product of functions.

1 1

1
So, here it is differentiate first I differentiated R . So, R when I differentiate it, it becomes R

dR dR [ dR
do

2
then 90 will be there. So, 90 again combined with this it will give j whole square and

cos® will be here as it is. Then I will go for differentiating the other quantity. So, cosf |

dR 1

differentiated, so it becomes sine theta and then these d0 is there and R is there.



dR
After that the differentiation is done on this term 96 and it becomes now ¢ ‘R , that is second
d’R 1 dK

—cos6
derivative d0° and other terms remain as it is R . So, we have got the term de , how it is

possible to write the expression of N, . So, the expression for N, becomes

2
N, =——(——x2)& 2cos6 +L2<:059(d—R)2 LI LS If}
R R do R d0 R do

So, the value of N No. and No are known in general form for this self weight. Now depending

on the directrices, the value of R and this R will change and this will be substituted in the proper
places to evaluate the value of membrane stresses.

(Refer Slide Time: 15:05)

Stresses due to Snow load
Snow load for design purpose is treated as uniformly distributed load over the
harizontally projected surface.

= Y =pcosBsing Z = pcos*

Let us see the case of snow load. Snow load for design purpose is treated as uniformly
distributed load over the horizontally projected surface. So, the snow load is acting here over the
horizontally projected surface. And it is the shell surface and we have to convert this in terms of

the load that is acting along the surface of the shell. But that is done in this way suppose on a

element, the total load will remain constant.



So, if I use this say if a is the horizontal length of this, so ?*% equal to say this is the curved

a
p—

lenght arc length for example, so dx’ . So, q becomes 0 . Now from this

triangle it can be seen that alb=cosf  go, q that is the vertical component of the load is

nothing but , so therefore this load is written as # 0860 Now once this load is written because p

is the intensity of the load over the horizontally projected surface.

So, now it is converted to the load along the surface of the shell, so it becomes # cos0 . So, now

pcosO pcos® 0

the component of along the radial direction is and along the tangential

direction it will be Pc0sOsin® So, 3 components of the loads are known now, X is 0 along the

: 2
longitudinal axis, Y is sin® cos ¢ and Z is P ¢S 0 .

(Refer Slide Time: 17:15)
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After substitution of Ny = =ZR = —p Rcos* 0

NotingthatX =0; Y =pcos@sind; Z = peos®d
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R do do




2
Then we can find out this value of K. So, Ny is directly -ZR = Z was pceos 0 , SO We can write
2
—PReos™0 (e you obtain No , then you can evaluate K and K is obtained as you see this

2
term N theta is — PR c0S 0 . So, after differentiating this No with respect to theta, we get now

k:3psin90059—%p00529d—R

d0 | 5o this term is obtained after adding Y.

Then the simplification is possible when you know the value of R and if you know the R as a
function of ¢ again you can differentiate this quantity. For a directrix which is having constant

curvature, that is radius of curvature is constant along the length of the curve then the last

dR

quantity this 46 will be 0. So, this will not be existing in case of shell with constant radius of

curvature like a circular cylindrical shell.

(Refer Slide Time: 18:41)

General Expressions for membrane forces

(under dead and snow loads for circular, parabolic, catenary and
cycloidal directrices)

Equation of directrix incorporating variable R with 0, can be
expressed as

R = Rycos™d

where n is index depending on the type of the curve, R, is the
radius at crown where 0=0

Aodm. AT

Now we have obtained a general expression for the membrane forces for the gravity load as well

as snow load. Gravity load here I mean that self weight plus live load and snow load is also



gravity load but it is acting over the horizontally projected surface. So, we shall consider now

here 4 kinds of directrices, one is circular, then parabolic, catenary and cycloidal directrices.

The other type of directrices that are common is semi ellipse but here I consider only 4, semi
ellipse can be treated in a different way. The 4 directrices are considered here because it is

possible to express the equation of the directrix in the intrinsic form relating the radius of
curvature and the angle 6 . So, it can be written in this form the equation of the directrix the

general form of equation of the directrix is

R=R,cos"6

So, here R, represents the radius of curvature at the crown that is the highest point on the shell.

And n is an number which may be negative, positive depending of the nature of the curve. So, R

n R=R,cos" 0

is varying wit , n is a index which depends on the type of the curve and R, is the

radius at the crown where @ is the 0. Because theta is measured with respect to the vertical axis

passing through the meridian.

(Refer Slide Time: 20:40)



Properties of different curves used as directrices

Arc of a circle
Here radius of curvature is constant at any angle 6.

Hence in the general expression
R(@) =R, cos" @

Wecanput Ry =Randn =10

So, properties of different directrices are to be found out before finding the expression for that
type of cylindrical shell. To solve the numerical problems on the cylindrical shell, we should

know the properties of different directrices. And properties of databases were expressed in the

intrinsic form R =R, cos"0 . So, therefore the different curve are treated here to find out their

equation in the form of R, cos" 0 .

First let us see which is a very common type of directrix is a arc of a circle. So, circular cylinder
is very common in application and here you can see the radius of the curvature is constant at any

angle 6 . So, therefore your this R=Ry=R . So, R is constant everywhere along the circular

directrix in n is 0 because R should be equal to Ry or R a constant quantity. So, this term should

be 1, so it is possible only when n is 0.

(Refer Slide Time: 22:04)



Parabolic Directix

With reference to the cartesian co-ordinates, x and v, the equation of a
parakola in parametric form can be expressed as

AR

| A=hay
| )
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=

Then we go for a parabolic directrix. Parabolic dielectrix are also seen in construction because
there is no harden fast rule, that for cylindrical shell the directrix should be only this circle, it can

be of any form. So, we are now considering the parabolic directrix. In parabolic dielectrix the

equation of the parabola is to be written in the intrinsic form. So, intrinsic form is R =R, cos"0 .

2 _
So, see this with reference to x and y axis, the equation of the parabola is written * ~ 4ay  And

at any point along the tangent the tangent makes an angle 0 with the horizontal and tan® ig the

slope of the curve. So, if the equation of the curve is given by y, then we can find the radius of

curvature at any point by the expression that is known from the calculus

(Refer Slide Time: 23:31)
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So, equation of the parabola in parametric form is expressed now. Because to convert the

equation of the curve or to find out the properties of the curve with a equation in the form of

3 3

R=2a(1+#)? =2a(1+tan’0)?
a( ) a( an ) , we should express the equation of the curve in the

parameteric form first then we can find the R and n. So, let us see this example, see the

parametric form of the equation of the parabola is written as x = 2at and y = at® which generates
the parabola that can be verified from this expression.

(Refer Slide Time: 24:18)




d—y=t=tan9

Now this is the parametric form of the equation @X . Because first we differentiated y

and it becomes 2t because if I differentiate t*> it becomes 2 t dt and a is there. And when we

differentiate dx, that is dx then it will be 2a because differentiation of t is 1, so 2a dt. So, now

ﬂ:tanG

dividing this by this we get the parameter t which is nothing but 4dx . Now let us find the

2nd derivative. Because 2nd derivative is needed for finding the radius of curvature. So, if |

i(@} a1

differentiate this quantity 9 \9X/ and then we can write dx 2a .

(Refer Slide Time: 25:23)
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dy (d_Y]
So, R equal to, now R is found using this formula dx . So, once we know dx
d’y 3
R=2a(1+¢)?
and dx’ , now we can find the R. So, R is computed as a( ) equal to

3 3

2a(1+tan249)E (1+tam29)E (1+tan29)

. . . 2
, SO . So, now this term is nothing but S€C 0

o . 3 . .
So, once it is raise to the power 3/2 then it becomes 2a S€€ 0 . So, that is nothing but because

. : : -3 .
sec theta is reciprocal of €056 | So, we can now write 24¢0s 6  So, the equation of the

parabola in this form is found out.

(Refer Slide Time: 26:33)
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R,cos" 0

The form is this . So R, for parabolic curve is 2a and n = -3.
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Cycloidal Directrix

A cycloid is formed by a point P on the circumference of a circle as it
rolls along a straight line without sliding.

The parametric form of the

4 equation of cycloid is
= T X= 4 (t-Sint)
04 ) B\ -y
/ANITA \ §= ¢(1-@Y)
b IMa- : 2

Now let us go to the cycloidal directrix. A cycloid is formed by a point on the circumference of a

circle as it rolls along the straight line without sliding, so this is the definition of cycloid. The

parametric form of the equation of the cycloid is o a(t —smt) and ¥~ a(t _COSt) . So, these

x=a(t—sint) (t—cost)

. . . e =a
2 equations are seen. So, parametric form of this cycloid is and ¥ .

a(1-cost)dt a(1-cost)dt

So, dx we can now find, dx will be . So, , dy can be found, dy will

Q sint

be asintdl go asintdt So dy, dx is now calculated 9% will be 1—C0S! | sin t can be

Lt t Lot 1—cost .ot
2sin—cos— 2sin’® — 2sin® —

written as 2 2 divided by 2 | because 2 s 2 And after

t
cot—

simplification of this quantity, it can be written as



d’y
. . ) 2, .
Now let us differentiate again to find out the curvature So, dx” is now found out, so it is

d (a’y

dy Lt dt
dx\ dx

——cosec” —
j . So, after differentiating this quantity one can find it that it is equal to 2 2dx

. Because first I have differentiated this expression with respect to t and then t is differentiated

) t
cosec” —

with respect to x. So, after simplification you can write 2a (1 —cos? )

Further simplification is necessary to bring this equation in the form R =R, cos" 0 .

(Refer Slide Time: 29:22)

Thus for cycloid

1+ ot W
R= SV M‘:) = —4a gm‘% directix,

(‘:{;L) fm:f‘% Ry=-4aandn=1
Sikee b= L.t :
i
L= —4a (58

dzy

—=———cosec’ (—) cotl
So, 9 4a . So, now put these value of these dy, dx that you have found 2
d2
)2/ =——-cosec’ (—j
and 9 4a in this expression for radius of curvature. So, after simplification we



R=-4a sini

get it is equal to radius of curvature is equal to 2 . Now you can note that the
y =acosh [fj
a
@ — tan@ = sinh =
dx a
pcos” 0
—pR, cos"? 0
L T _p
So, this 2 if I substitute here as 2 , then it becomes R =—4a cosO So, that means, here

R=R,cos"0

now we have been able to write the expression in the intrinsic form that is So,

now find out what is R,? R, here is -4a and n is here 1, because it is cos6 sonis 1. So, for
cycloidal directrix the equation of the cycloid to be used in our expression for finding the

membrane stress is given by —44 cos€ | where R, is -4a and n is 1.

(Refer Slide Time: 31:06)
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Directrix in the form of Catenary

The equation of a catenary 0
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Next directrix is the catenary which is also common in some application. Now equation of the

& = tan6 =sinh =
X a
x : 1
y=acosh[—j d f:—coshi
catenary can be written as 4/ So, dy, dx is calculated dx” a a that is the

1

first derivative is calculated which is nothing but tan® and it s equal to . Because 4 will

X
sinh —
come out and it will be cancelled with the a, so the term remains only the @ . 2nd derivative
d’ 1 X
LY “cosht
is calculated and it is equal to dX~ @ a . So, 2 derivatives are found, now we can go for

calculating the radius of curvature.

(Refer Slide Time: 31:57)
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So, radius of curvature is given by



& dy 4y

Substituting the value of @ and dx’ , now we can write this we have already got dX as

, d’ 1
sinh X Y Zcosht
a and dx° = a a . So, substituting these values we now get R in the form of a
cosh
a .

(Refer Slide Time: 32:36)
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R=R,cos"0

So, now it has to be agai , so trignometrical function cosine has to be brought here.

X . ,X
cosh? = —sin’ = =1

So, to do this we take this a a  and this tand we already obtain, tan® g your
. X . X . X
sinh — sinh — sec’ 0 =1+sinh> =
a . So, now substituting this tan 0 as a | we can write a,

X . ,X
cosh’ = —sin* = =1
Now we know this trigonometrical identity that is a a . So, that means

.2 X X
1+sinh®> = cosh® =
@ is nothing but you can find it, it will become @ . So, this is written here in this



o . 2 .
form and this is nothing but 5€¢” € _ So, now we can relate because this is related to cos6

X
sec’ 0 =cosh” =
because Sec is related to cos, so a.,

. . _ 2
So, therefore the equation of the curve can be written as R = asec 0 and therefore R, = a, n =

-2. So, in this way we can find the equation of the directrix in this very interesting form that is

R =R, cos" 0 , so that the value of R, and n can be substituted in the general expression that we

have derived for any kind of directrices.
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Parameters of different directrices

Intrinsic equation-relating radius of curvature with 6

The curve which can be expressed in the form R(8) = Rycos™f

(i)For circular directrix n=0
(ii)For cycloidal Hirectrix, n=1
(iii)For catenary directrix, n=-2
(iv)For parabolic n=-3

So, now we summarise the parameter of the different directrices. For circular directrix takes n =

0, for cycloidal directrix n = 1, for catenary directrix n = -2, for parabolic it is -3. The equation of

R(0)=R,cos" O

the curve is . One directrix I have not included here because these cannot be

expressed in this form, that is the semi ellipse and that have to be found from the general
procedure that finding the radius of curvature after successive differentiation of the equation of
the curve.

(Refer Slide Time: 35:25)



General expression for stresses under self weight

Using R=R, cos " #"dnd Z=w, cosfl, Y=w,sinfl in following expression for Ny, first we

get
Ng = ~ZR = ~w,R,cos™*'8
o 1dN, . 1d e .
K=( — = : (-w, R, cos ' 6)+w,sinfl
R df Rdd
= F{L,ms"ﬁtrhl“{ﬂﬂm" cos” @(-sinfl)} +w_sind
K =(n+1)w,sind+w,sind K = (n+2)w,sing

So, let us now find the general expression for stresses under self weight. Using this relation

R =R, cos" 0 , the radial component of the vertical load is W, cos0 and the component along
.4 .. w sin0 o . .
the tangential direction is ¢ . So, substituting this we can now find the expression for my

Ny Ny==ZR (W, R, cos"' 6

membrane stresses one by one. First let us find the . So, this

is the expression for this No and suppose it is a circular cylindrical roof then n is 0 and R is your

constant quantity, so we can find this value now.

For say other type of directrices we have found R as well as n, so we can put here. So, K can be

K:(idN"+Y)

found now, R do , that means Ny is differentiated with respect to 0 . And since this

is the expression for No when I differentiate this it becomes "¢ (n+1)R, cos” O(=sin0) . And

R, cos" 0

here R is substituted as and this is the Y, this is the component of the load Y. So, after



K =(n+Dw,sin0+w,sin6 k=(n+2)w,sin6

simplification K becomes which is nothing but

. So, once you find K, now you can find Nox .

(Refer Slide Time: 37:21)

Then, we get
N, R =Kx=~(n+2)wxsind
Now, we know,

K=(n+ Z}Ws sinf

.- E_xz)lﬁ dK
2\4 R df rrie (n + 2)w, cosé

N, =—-Kx=—(n+2)w,xsin6

So, . Then we come to the N, the longitudinal membrane stress

that has to be found. The expression for longitudinal membrane stress for simply supported shell

was derived as this

1(1 2\ 1 dk
N =- ( _x)RdB

So, if K is known as this
K =(n + 2)wgsinsin

differentiation of this quantity with respect to theta will give you this

dK
—=(n+ 2)w coscos9
=+ 2w

So, after substituting this in this expression, now we get

2
N, =_”+2W,(l__xZ);_I
2 f4 R,cos"" 0

So, 3 membrane stresses we have evaluated.



(Refer Slide Time: 38:28)

Stresses under snow load
If p is the intensity of snow load, then

X=0, Y=pcoshsind 7 = pcos®d

Substituting R=R, cos " ¢} then

Ng = =ZR = —pRycos"**f

Also, 7 :lﬂ

Rae "

K = (n+3)psinf cosf

Now we go for calculating the stresses under the snow load. So, component of this snow load
along this radial direction and the circumferential direction is given as, in the radial direction it is

pcos’ 0 pcosOsind

as you can see from this figure. And in the circumferential direction it is
R=R,cos"0

this is evident from figure and also discussed earlier. So, substituting this .

_ 2
And this expression for the load component we now first obtain Ny =—ZR .So, Z is P8 0

n+2
and this expression R is substituted here. So, final expression will be ~PR, cos™" 0 , SO this is
N _Lav, +Y
the expression for "¢ . Now, find out these K value, R do , Y is known as

pcosfsing So, we differentiated this quantity and then finally it is found

K =(n + 3)psinsin® coscos 6

(Refer Slide Time: 39:45)



Jin
e dlhyy bt

fw{,

= lnt) o, G™g Sind
k' + ) Gst Sing
ﬁg{m /%Mliﬁ‘aﬁm
K= ?(nu}(a&.‘ihﬂ-ﬁ }afns&uﬁ
= p(n+3)Gs6 Sing

N, =—pR, cos"* 0

This is of course is illustrated by step by step procedure. So, and K is
ko La, |
R do , where Y is 7 cos@sind . So, it is written like that, substituting this value of N

theta means No is differentiated with respect to 0 . We can see that this expression is obtain, this

+2 . .
n—npRO cos"" @sin@ + pcosHsinf

R,cos" 0

k=p(n+3)cosHsin0

So, then taking common terms or adding this we finally get , so that is

written here. So, p is the intensity of the snow load.

(Refer Slide Time: 40:58)



Hence,
Nyg = =Kx = —(n + 3)psinf cosd x

K =(n+3)psind cosd

n+3
K= Tpsin 20

. dK
s n+d P = cos 26 E-(R-I-B]FCUSZH

dk
N do " : N. .
So, once you get the "¢ and then other quantities can be easily found out. So, "'~ is
nothing but N = L[l A
othing bu x 2\ 4 R do
We have obtained K as

n+3 . .
= —,—sinsin 20

sin 20 dk

Because €0s0sinb jg nothing but 2 | so it is written in this form. So, do s nothing but

172

pP= J(Nxe )ezegdx

lZ
w, [Z — xzjsin 6.

2 .
w,l”sin6,

pmax: 4

, because 2 will get cancelled with this 2 in the denominator.

So, therefore the N, the expression for longitudianl stress can be written as



? c0s 20
N, = ——x°
' 2R, pe 4 ) cos” 0

So, in this way we have obtained the membrane stresses 3 component of stresses that is N, ,
N and N for cylindrical shell having any general type of directrices here include the

following type. One is circular, parabola, cycloid and this catenary. So, these type of directrices
are included in this expression, for other types of directrices the general procedure should be
adopted. So, after obtaining this 3 stress component for snow load and dead load.

(Refer Slide Time: 42:51)

Force transmitted to the edge member

Dirwtris —.

Gunpralar

We can now find the force transmitted to the edge member. Now you can see that shell is
supported on the edge member, so what is the force transmitted on the edge member? Because
edge member will be subjected to force that will be up to certain region it will be compressive
and up to certain region it will be tensile, so let us find out this.

(Refer Slide Time: 43:16)



Edge Beam Force (Circular cylindrical shell), Radius of curvature

is constant

A FBD of edge beam
with the shear force
Nx0 transferred by the
shell to it.
Axial force P developed in
the edge beam at a distance
% from the centre

11

p== Jl(a'v,,-p)##f, v

You can see here the

0 if we see the expression for membrane shear force it is

N - -K x,

that is x = 0, membrane shear stress is 0 and it is maximum at the ends. So, one is in the negative

direction and other in the positive direction. So, let us find the resultant force. So, axial force P

[

developed in the edge being at a distance x from the centre can be given as integration of 0 to 2

Neo , N9 has to be found at this edge thatis =

)

out. So, it is integrated from 0 to 2 for the one part.

(Refer Slide Time: 44:16)

¢ . So, at this point the N has to be found



Consider the expression of N, that was developed for dead load w,

N=-Kr=—(n+ 3}"'1-Jl's'm g
3
For circular cylindrical shell R=Ry, n=0

N,y =-2w,xsind

= b Medaia

And after integration this N x theta is given as

N,y =—-Kx=—(n+2)w,xsin6

And let us do it for a circular cylindrical shell first, so R = R, and n = 0 for circular cylindrical

shell. So, therefore N can be written as 2w, sin 0 .

(Refer Slide Time: 44:47)

f=

P= = [ (Ny) ‘é}

= | = 2Wx Sind, dx
.

L
= H ,C L 4
3 (T " 1) Sie 0.
Magm. tensia dccon af 220
1. 4
(NS

So, P is now calculated as at a distance X, so therefore we put the lower limit x. But if it is

calculated from 0, that is centered then we put the lower limit 0. So,



1/2

pP= _[ (Nx@ )B:Bde

X

—2wg sin@

So, substituting the value of N as ¢ dx. Now after integration we find the expression

2
W, | ——X

2
; sin 6,
for the edge member force as . Now it is seen that maximum tension occurs

because it is now becoming positive, so tensile force is treated as positive. So, maximum tension
w [*sin0
8 7 e

pmax =
occurs at x = 0, so by putting x = 0 we get 4

(Refer Slide Time: 45:53)

SUMMARY

In this lecture, expressions for membrane stresses for cylindrical
shell have been obtained for any arbitrary directrix. For some of
the directrix, intrinsic equations relating the radius of curvature of
the shell with the angle measured from the vertical axis (through
crown) can be obtained. Therefore, general expressions for
membrane stresses under dead load and snow load were
obtained using parameters R, (radius at the crown) and angle €
which can be used for four different types of directrices-(i) circular
(ii) parabolic (iii) cycloid (iv) catengry.

So, let me summarize what we have done today. In this lecture, expression for membrane stresses
for cylindrical shell have been obtained for any arbitrary directrix. For some of the directrices,

intrinsic equations relating the radius of curvature of the shell with the angle measured from the
vertical axis can be obtained, that is R and 0 is related. Therefore the general expressions for

membrane stresses under dead load and snow load were obtained using parameters R, and angle



0 . This expression can be used for 4 different types of directrices, circular, parabolic, cycloid

and catenary. We will see some numerical problem in the next class, thanking you.



